U AR x=2,x=my=2y=n9 1R F#<] 0ABCD 9
Hol7b 54 0] AB: AD = 2: 3 & wf, 2] A m,n o F mn 2
w27

yl\

@)
DN
Ry

r=m

@D 22 Q) 44 A 66 @ 88 3 100



F A x-3y+3 =0, ax+by - 12 = YA
09 17} W P(3, k) oA e
2A0 = BO oltt. olwf, /4= a, b, k| s} AN
oAa+b-ko g2

z—3y+3=0
P

“K 0 B~_?
© -5 @ -2 @ -1 (=300 ag+by-12=0

@ 1 B 3




4x+2y =6
QYA
—2x+8y =15

DO Ox2-Ox3
® O-Ox2
®AH-Ox3

O G4 2 a9 9

@ Ox2+Ox3
@ O+0Ox2

34

29



o|11, 11 W9 7t= o] Zo|o}t A2 o] o]}

747} 2a , 3b Q1 AVE715 0] Utk o] AFE7|E o] )7t 36a%b* 4 o,

@ 10ab ® 10b

B 6ab

® 6b

@D 6a



S35 1519 ol A4S Foha 1 A 4a57t B o
1235

zee 5 Aelo] A4S BE D297

d

—

D 9 ® 18 B 45 @ 90 B 99



6. x7}AAG0l, HSA _5 4 2x < x —a & WESH= 9] A7) 2
ML o, A4 a ol 3ol He=?

@D 0<a<3 @ 1<a<3 ® 2<a<3

@ 0<a<3 B 1<a<3



7.

oP 9] Lpo] i o} 5] Lol m} 304ko] B, 5 Aol oh# 4]
Lol ol5 0] tele] 4 Hlgich. 23le] ob#l 49| Lol x4t ol5e]
Lol Z y oleta @ ), x, yol it ARYHA 02 Ly

x—y=30 x+y =30

@ {7 @
x—-5=4y-5 x=5=4(y-5)
x—y=230 x—y=30

® {7 @ {7
x-5=4(+5) x+5=4(y+5)
x—y=230

@ y

x—-5=4(y-5)



8.

e AYREA F A7t gl A

2 3
@ §x+2>§x—3
02x-47>25-0.7x

@ x+5<2x+3<-2
ox—3<3x+1

0.03(x —2) > 0.02x — 0.01
3x-4<-2(x-3)
x+1>—-(x+5)

@

1
® 3x—6<2x+3<10x+§3



=
ojn
ny
—_—
N
H]
oy
!
o
[enREN
1 wrt
SN
| ol
o.m S
3 =3
<
JXuO N
o B
i~ W
of M

9.

® 2

@ 1



10. ofH 2] A of 2x? - 5x+ 7 & wWjoF & Z1-& ZEste] TSt e Y, Eol
7x? — 2x + 3 ©] it} vtE2A| At &Fe?

@ 5x243x-4 @ 5x2-3x-4 @ 3x2-2x+17

@ 3x24+8x—11 ® 3x2-12x4+3



